
Complex Analysis Tutorial Nine Solutions.
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We then obtain after an elementary application of Euler’s formula
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Question Two. We use the same contour as was in the last question of
tutorial eight. We have γ = γ1 + γ2 − γ3, where γ1(t) = t, 0 ≤ t ≤ R,

γ2(t) = Reit, 0 ≤ t ≤ 2π
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Let f(z) = z
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as R→∞. So taking R→∞ we have
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Question Three.
(a). We have
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The first integral on the second line is zero by Cauchy’s Theorem.

Question Four.
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We let f(z) = 1
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Question Five.

(a) We have the Laplace transform F (s) =
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We have F (s) =
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